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1. AHRTHRREIFHEM

‘ TERIS Y SRS R _ 1ERIS T Y BB E 2 R
P #wo| mg |2 F B AEAR = = P #o| mg |2 FE AEAR = w =
M |& % k| B | kB | BR M | & % & | B | kB | BR
125/100 | 135/100 | 25/100 125/100 [ 135/100 | 25/100

T ARGt R A 28,700 0.771 0.120 0.130 0.024 & A 33,100 0.709 0. 111 0.120 0.022
R EXS A 23.000 0.783 0.122 0.132 0.024 SR E A 33.100 0. 709 0.111 0.120 0.022
@S A 19. 000 0.847 0.132 0.143 0.026 EEME A 25,500 0.718 0.112 0.121 0.022
®E%x8 A 15. 200 0. 885 0.138 0.149 0.028 Bk EE& A 41.400 0. 805 0.126 0.136 0.025
S<ET A 34,500 0.697 0.109 0.118 0.022 Bkt A 41, 400 0. 805 0.126 0.136 0.025
a1 A 29.100 0. 905 0. 141 0.153 0.028 BKEHKE A 217.000 0.854 0.133 0.144 0.027
Jovs T A 26,100 0. 901 0. 141 0.152 0.028 BKERE A 217,800 0.864 0.135 0. 146 0.027
FEET A 25.700 0.830 0.130 0.140 0.026 EEIT A 22.200 0.771 0.120 0.130 0.024
BHT A 25,000 0.893 0. 140 0. 151 0.028 HET A 24,200 0.815 0.127 0.138 0.025
AT A 26.300 0.884 0.138 0.149 0.028 FBET A 26.000 0.833 0.130 0. 141 0.026
BET A 217.100 0.827 0.129 0. 140 0.026 p A 25,500 0. 886 0.138 0.150 0.028
UL A 26,000 0.854 0.133 0.144 0.027 £E A 25, 800 0.876 0.137 0.148 0.027
BT A 22,600 0.724 0.113 0.122 0.023 BRET A 22.700 0.776 0.121 0.131 0.024
WIARER RS T A - - - - - FoUxT A 217,800 0.825 0.129 0.139 0.026
BET A 33, 600 0. 821 0.128 0.139 0.026 Bk T A 26, 600 0.785 0.123 0.132 0.025
HWHEET A 26,900 0.815 0.127 0.138 0.025 wET A 25,600 0.790 0.123 0.133 0.025
BEF (B A 26,000 0.793 0.124 0.134 0.025 AAILT A 29. 500 0.780 0.122 0.132 0.024
BELF (—f%) A 24,800 0.816 0.128 0.138 0.026 Yy T A 31,600 0. 785 0.123 0.132 0.025

A 19. 000 0.847 0.132 0.143 0.026 BRAET A - - - - -

A 15, 700 0. 851 0.133 0.144 0.027 RET A 217,200 0.831 0.130 0. 140 0.026

A 12. 800 0.904 0. 141 0.153 0.028 HSRT A 26. 800 0.721 0.113 0.122 0.023
B AHEER A 46, 000 0. 886 0.138 0.150 0.028 EET A 23,500 0.708 0. 111 0.119 0.022
BMAT A 37.100 0. 940 0. 147 0.159 0.029 o T A 23. 600 0.725 0.113 0.122 0.023
BEY £ SHEER A 37,500 0. 791 0.124 0.133 0.025 RET A 23,900 0.794 0.124 0.134 0.025
BY £ SEBRT A 31. 800 0. 854 0.133 0.144 0.027 BEJovs T A 24.900 - - - -
BY SSEBET A 32,500 0. 861 0.135 0.145 0.027 SRt T A 26, 900 0.815 0.127 0.138 0.025
b RILIHEER A 43,700 0.948 0.148 0.160 0.030 BlFLT A 23.000 0.783 0.122 0.132 0.024 |450%1E%8
b RILEEBRT A 39, 400 0. 961 0.150 0.162 0.030 59T A 23,000 0.783 0.122 0.132 0.024 |%5W1E%8
FRIILEES A 28.000 0. 941 0. 147 0.159 0.029 A SRR A 28.700 0.771 0.120 0.130 0.024 |+ KR—fgtHEEH
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2. MR T EES B

3. ERAEXBHHHME

% o me | B BANR W
BT A | 20000 - |5 b - Ry THiE
'BET A 28. 300 0.669 |&'— b - Ry TFEHEEHIMAAR
T Al 2700 | 0877 |BEBETHEE (BETER)
ARBHT A | 26300 | 0660 |fisein s R
BRAEHEE | A | 36300 | 0640 |BEAETHEME
BRAEHEA | A | 20400 | 0640 |BEAETHME
AR AL 36700 | 0600 |BEAERTRIEE
AR A 26300 | 0600 |BEAERTRIEE
megmsih | A | 28000 | 0640
SUERIET A | 29,500 - |miEn e

% wo| | BEAE) DR 1

R E RS E BE

(REE)
T ERSTE A 80. 200 0.550
Kbf& A 75. 800 0.550
EXE357:0] A 64. 800 0.550
Ef (A) A 57. 000 0.550
EF (B) A 47. 200 0.550
Ef (C) A 38. 400 0.550
Riff& A 33, 600 0.550

(HER)
P EL A | 54600 | 0550
SR A 47,100 0.550
B T A | 36000 | 0550
MEHT A | sa600| 0600
oS A 56, 300 0. 650
EiEt+ A 43, 200 0. 600
et A 43,500 0. 600
BEEHT Al 36100 ]  0.600
BT NEmE) | A | 34600 0600
B E AR+ A 36. 300 0. 600

GhEBRET)
Hh B8 57 i A 53, 200 0. 600
THEMERES A 41, 500 0. 600
HERES A 31. 400 0. 600
BT
A [ ol ]
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4. FPURLVERHHEEM (R)

BRERE A 23. 000 8. 300 24,126
LTEEXE A 19. 000 84.700 20. 006
b RIVEEGRT A 39. 400 96. 100 41. 766
b RILHEER A 43.700 94. 800 46. 289
FoREES A 28. 000 94.100 29. 647
BT A 22. 600 72. 400 23. 623
BET A 27.100 82.700 28. 501
MR T A 27.100 82.700 28. 501
BIEF (155 A 26. 000 79. 300 27. 289
RiEHAST A 26. 900 81. 500 28.270

N1 ALY (8KMBEH) FEFBESHEARERIIRT

BT HESHEER
BRRABED BB
2 % & P(8HfE% =) P(8EEI %= 1))
ET RRFEW 0 P /8%25/100%4=0. 125P
& it P(8HfE% =) P+0. 125P o
DEQDOFEY = P+ 0.0625P«
Bffi = P x (1+00625a) - iEHIBEGELGE
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5. [§R%. A%, BY

g | B M@ gy | B

% # ® E & W% % # ® % E: &
BB 2=
(SRt 5) EHES)
TGS Eak (Z3h) 10§48 A 10,727 |BBms = TS B HBBEE A 2.363
HETE Ea% (Zi) o A 10,727 |5BmsE HETE B HBBEE A 2.363
TEHE s (Zih) 7 A A 10,727 |BBmH = Es2, e HBBEE A 2.363
HED (A)  TaE (Zi) 68y A 8,000 |B Bk % HED (A) B ABBEE A 2.000
WD (B) mmE (Z3h) 48a% A 8,000 |B Bk % HED (B) B HBBEE A 2.000
HEF (C) EhE (Zi) 38 A 8,000 |B Bk % HED (C) B HBBEE A 2.000
HHE Eas (Zih) 24a A 7,000 |B#BIRE S B ABBEE A 1,545
GBI 2 75) GRS %75)
MEEEHEG EOE (Zih) 6 A A 8,000 |B B % MEEEHE B HEBE = A 2.000
AW Ea (Zih) 488 A 8,000 |B B % AIBHED B HEBE = A 2.000
BB Ea (Zih) 248 A 7,000 |BE B E ABHETE B X HEBEE A 1,545
AEHF mas (Zih) 14348 A 7,000 |BE B E AEHF B2 HEBE = A 1,545
Bt mas (Zih) 488 A 8,000 |B B % Bt B HEBE = A 2.000
Bt man (Zih) 38Ha A 8,000 |B B = Bt B HEBE = A 2.000
Pt man (Zih) 38Ha% A 8,000 |B B % B+ B HEBE = A 2.000
BEHT mon (Zih) 14348 A 7.000 |BE B E BEHT B HEBE = A 1,545
AEMBGT EOE (Zih) 14348 A 7.909 |# R = EREGT B HEBE = A 1,545
(BEEH) (BE L)
WHAENE Eak (Zih) 48Ha A 8,000 |B BB = WEHARE 0% EEBE = A 2,000
TEMERERA EA% | (Z#) 2MiEu A 7.000 |BE B E TEMEEES B | EEBEE A 1,545
WEAEA ma (Zih) 14a A 7,000 |BE B E WEHES B HEBE = A 1,545
- BEH, A
NEDFHEHRERE B A E]FE D
2 BT FHLY29BEET A 6,736 JHERIRE
RO M HETRE ERREEE 1)
3 RN L THLYNEEET A 8,354 |BEBIHE
NEDFHEHRERE EHIBEM b
2 BT 59 BHET (308) A 6,063 |JHERIRE
RO M HETRE EHOHEAR 5
3 RN L BOHEZT (30H) A 7,500 |BE B E
NEDFEHEERE
2 %&géu‘g fEA0E B L A 5.390 HERIIRE

Mk =k o)
3RS L E3H60E B LLE A 6.681 |mmBiRE




